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Relax. Read the questions carefully. Manage time well.
Answer ALL the following questions.
I. Choose the best answer from a, b, or c.
L. “I must see a doctor now $s3 Jlazy sk 0¥ is an example of ... .

a. diglossia b. code-switching c. lingua franca

2. “Be reminded that your appointment has been postponed”.is an example of ... register.
a. a formal b. acasual c. an intimate

| 3. The pronunciation of again as either [9'gein] or [2'gen] is an example of ... variation.
a. morphological : b. phonetic c. phonological
1. 4. Aswan Arabic is ....

a. aregional dialect b. asociolect c. an accent

5. The pronunciation of color as ['kalo] is an example of ... pronunciation.
" a. rhotic b. non-rhotic c. rhetoric
6. The term ‘variety’ can be used to describe a ... .

a. dialect - i b. language c. a&b

7. Queen’s English is .
a. anaccent b. asociolect . ¢. aregional dialect

8. When a variety is identified as standard or non-standard, this reflects a ... evaluation.
a. linguistic b. psychological c. sociological

9. ... is usually a means to achieve solidarity among groups with a low socio-economic status.
a. overt prestige b. covert prestige c. lingua franca

10. While ... is variation according to use, ... is variation according to users.
a. dialect/register b. register/dialect c. dialect/accent

11. Register is usually thought of as based on the ... level.
a. politeness b. prestige c. formality

12. An English nursery teacher speaks to a group of 3-year-old children, saying “Achievement
depends on your enthusiasm and keenness to accomplish your objectlveq This violates the
appropriate register in terms of ..

a. field b. tenor c. mode Al s
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13. Jamaican Patois is a creole based mostly on vocabularies from English. So, English is the
.. of Jamaican Patois.

a. pidgin b. vernacular c. lexifier

14. The /d3/ sound in Egyptian Arabic can be pronounced as [d3], [g] or [d]. This means that
[d] in Egyptian Arabic is a ... and (d3) is a/an ... .
a. variant/variable b. variable/variant c. variety/accent

15. If the difference in pronouncing Ysg in Egyptian Arabic as [fah'himna] or [fah'hamna]
can go unnoticed, then these pronunciations are ... .
a. indicators b. markers c. stereotypes

16. Although [g] 1s a variant of (q) in both Egyptian Arabic and Kuwaiti Arabic, the attitudes

of Egyptians and Kuwaitis towards the same variant are different. This means that Egypt and
Kuwait are ...,

a. one speech community b. two speech communities c¢. two languages

17. If a researcher is investigating the effect of education on the ways people in a speech
community pronounce final imaala in words like 4«3 and 43S« ag either [a] or [1], this means

that imaala is a/an and education i1s a .
a. dependent variable/predictor b.  predictor/dependent variable
3 independent variable/predictor

18. If Ahmad is Mamdouh'’s cousin, friend, brother-in-law and neighbor, this means that both
Ahmad and Mamdouh have ....

a. uniplex ties b. unrelated ties c.. multiplex ties

19. According to Badawi’s model, the sentence * e s33uy Sl (saie 3a aS2aY IS () & 30 LI
1s an example of the ... level.

a. Ol Aale b, wa¥l Gale c. il duale
20. In diglossic languagés, the written variety is the ... variety, while the spoken variety used
for conversational purposes is the ... variety.

a. prestige/standard b. High/Low c. Low/High

II. Decide whether the following statements are TRUE or FALSE.
1. il )aSuy) dagll ) salSiy AW 3 @bl 4 is an example of the indirect method in
collecting language-attitude data.
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2. According to the principle of accountability, ONLY variants that validate an
argument must be counted.

3. If people in a speech community are aware of the differences between two variants,
this means that these variants are over the level of social awareness.

4. A variable is the actual use of a variant.
A creole is not a fully-fledged language.

6. If a language has some varieties, one of which is standard while the others are non-
standard, this language is diglossic.

7. Switching between a prestigious accent and a non-prestigious accent with a language
is a type of code-switching.
8. Participant observation is relying on different methods in collecting data to make
~ sure of the accuracy of the results.
9. Dialect is part of accent.

~ 10. Choosing a variety as the basis of the standard language i is the implementation stage
in standardization.

11. Non-standard varieties may have covert prestige.

12. Pidgins are generally characterized by simplified linguistic features.

You will be missed.
Best wishes
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Answer Two of the following questions:

1. The Victorian Age was an interesting time when old religious beliefs started

2. Trace the literary scene in 19th century Britain.

3. Illustrate the political history of 20th century England.

getting questioned due to progress made in science and technology. Discuss this

statement with reference to the relationship between science and religion.

Best of luck!

i |brahim El Deeb
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1- Who is Fortinbras?
a) Prince of Denmark

b) King of Denmark
¢) King of Norway

d) Prince of Norway

2- What do Claudius and Gertrude want Prince Hamlet to do in Act 1?
a) Go back to school

b) Stay closer to them
¢) Become the king

d) Get married

3- What does Fortinbras want from Claudius?
a) A position in the Danish court

b) Lands that once belonged to Norway
¢) Marriage to Ophelia

d) Taxes from the peasants

4- What play does Hamlet ask the players to perform?
a) “The Murder of Gonzago” b) “Oedipus Rex”
b) “Beowulf” d) “Faust”

5- What does Hamlet ask Horatio to do during the play?
a) Monitor Ophelia’s behaviour b) Keep an eye on Gertrude
¢) Pay attention to Polonius’ movements  d) Watch Claudius’ reaction

6- What does Claudius feel guilty for?
a) Killing his brother

b) Marrying the queen
¢) Sending Hamlet away

d) Running out of the play

7- What message does the ghost give Hamlet at the end of Act 37
a) To leave his mother alone b) To hide Polonius’ body
¢) To give up d) To remember to return to Germany

8- Why does Hamlet refrain from killing Claudius when he has the opportunity to?

a) He does not want to be the King b) Claudius is still his uncle
b) He does not want to hurt his mother d) Claudius is praying
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Answer ONE of the following questions: (12 M.)
First Question:

How all occasions do inform against me
And spur my dull revenge (Act iv, scene iv)
- Is Hamlet by William Shakespeare a revenge tragedy? Write a critical essay on the

motives of Hamlet’s procrastination or delay of Revenge.

Second Question:
I am thy father’s spirit

Doomed for a certain term to walk the nicht
o fe]

Till the foul crimes done in my days of nature

Are burnt and purged away (Act I, scene V)

- The supernatural in Hamlet - represented by the ghost- plays a great role in the

development of the play’s action. Argue.

Answer the following question: (12M.)

- William Inge excels in delineating women’s character by shedding light on their
suffering which is largely due to the lack of communication with their partners. Refer
to Lola’s crisis, Doc’s disillusionment and the final adjustment in Come Back Little

Sheba.

751\;( Wishes
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QI. Langston Hughes” “A Black Pierrot” is meant to dramatize the
African-American’s Identity Dilemma. Discuss.

I am a black Pierrot:
She did not love me,
So I crept away into the night
And the night was black, too.

I am a black Pierrot:

She did not love me,

So I wept until the dawn

Dripped blood over the eastern hills

And my heart was bleeding, too.

I am a black Pierrot:

She did not love me,

So with my once gay-colored soul
Shrunken like a balloon without air,
I went forth in the morning

To seek a new brown love.

Q2. Freud’s theory divided the human mind into three levels of awareness:
the conscious, preconscious, and unconscious. Each of these levels
corresponds and overlaps with Freud’s ideas of the id, the ego, and the
superego. Elaborate,
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o Answer the Followmg Questlons

I. Explain THREE of the following terms as they relate to translation of
languages: [6M]
a. Equivalence b. Adaptation
c. Transposition, d. Modulation
Il. Complete the sentences with the words in the box: [4M]
Mailing list spam email address
newsgroups ' spammers

1. Never ever reply to a email or click on a link within the mail;
this will lead to more junk email being sent to you. Unsubscribing only
confirms you do actually exist, so they've hit the jackpot.

2. Don't let your email address be displayed anywhere on the Internet,
including , chat rooms or any websites.

3. Never forward a spam to other people- might be able to
track their addresses too, and you could end up losing friends!

4. Send your emails on a strictly “need to know” basis: don't include
everyone on a unless it is really necessary.

Il. Select the letter that most accurately completes the sentences: [6M]
1. When people talk about malware, they are most likely referring to

a. computer equipment

b. goods that are not durable

c. a flu-like virus

d. software that disrupts computer functions

2. The word spam, or unsolicited e-mail, derives from
a. a slang from an annoying person
b. users who hate receiving it
c. senders who want to remain anonymous
d. clients who oftentimes shop online

Distribution of the exam marks: Ist Question 6 w= 2nd Ouestion 4 == 3prd Question B == 4th Quesfion 16
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3. The OS IS part of the _
a. software b. hardware c. malware d. adware
4. When computers are down, our way of life breaks down. That's what we
call :
a. Computer network c. Computer addiction

b. Technological dependence d. Operating system
o. is working at home while communicating with office by
computer or telephone.

a. e-working- b. Teleworking c. Navigation d. Transportation
6. Informahon s stored on a computer as ;
a. Integrated circuits b. Dlg;tal data
c. Computer files d. Software products

IV. Translate into co.rrect,professional English: [16M]

CJ'& ) .3155_151"_9 L_I}Ml}.)}ﬂ mb}&ammjwmb_ﬁ \ll_q.blu._:;js”ml_.

)JJLdJ}JJLUJj“WJ‘d}AJML‘\ ‘1 \H“\|\ A‘Ill \5‘).0114&.'&3;“;@_«11&\ }3‘5?“)}" ¥
LJJJLJ}J}AJ“M&P&JC)MM}QWJ&MM&A&JL&L&JLJ Jj)ﬁjlﬂ.dsj‘amlpﬁ'l
dLALibn_\Lﬂjlu

JLmPJJ\Q_L; Pﬂ\tjw;mm )LLMJ,SJ Y
RV ) é’yﬂje.&_w
Sl £ sm e (A g haall aaliadl g Lladll gads Jaladg el jEiu) -
A0 I Aoy i)y jabeaall g AL Cuuliall aladiuy) -
OSal) el Sl -

JJ:&\SA&_LAJ.AQ‘)C«?J.JQ_ -
c.]'l sc.%‘}"lj‘a.ﬁ).m n_ILAJLcJLAJ;\_SS}AJ_UCMR1M1 w%bmm}mﬁ)%‘ -

> THE END
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